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GDS TO PM/MTS KARNATAKA CIRCLE-2022 
(1.) Select the correct sentence: 

(A.) Coin, bullion, precious stones, jewellery can be transmitted through any mode of Inland Post.  
(B.) Coin, bullion, precious stones, Jewellery can be transmitted through India Post. 
(C.) Coin, bullion, precious stones, jewellery can be transmitted through India Post, but shall be insured 
(D.) Only coin and bullion can be transmitted through Inland Post, but shall be insured. But precious 

stones, jewellery cannot be transmitted. 
(2.) If a renter of a Post Box is changing his business address or shifting his address to another place, he should 

invariably inform the Postmaster within how many days of such change? 
(A.) Five days (B.) Seven days 
(C.) Fifteen days (D.) Thirty days 

(3.) Electronic Clearance of letter boxes is monitored through which software? 
(A.) Nanyatha (B.) Postman Mobile App 
(C.) Post info App (D.) IPPB 

(4.) Which is the first Post Office Passport Seva Kendra opened in Karnataka Circle? 
(A.) Jalahalli HO under Bengaluru west Division  
(B.) Shivamogga HO under Shivamogga Division  
(C.) Metagalli SO under Mysuru Division 
(D.) Brahmavara SO under Udupi Division 

(5.) The hours during which business is transacted with the public and times at which mails are delivered and 
dispatched in a post office are notified in? 
(A.) Book of Information (B.) Citizen Charter 
(C.) Notice of Business hours (D.) India post Website 

(6.) International Tracked Packet Service is not available to which of the following country? 
(A.) Thailand (B.) Australia (C.) Qatar (D.) Vietnam 

(7.) How the closure of MIS account before one year of date of deposit is regularized? 
(A.) A deduction equal to 2% from the principal will be deducted 
(B.) A deduction equal to 1% from the principal will be deducted 
(C.) MIS account cannot be closed before expiry of 1 year 
(D.) A deduction equal to 0.5% from the principal will be deducted 

(8.) Printed matter usually carrying a sales message or announcement designed to elicit a response from a 
carefully selected consumer or business market is called? 
(A.) e-Post (B.) Media Post (C.) Direct Post (D.) Retail Post 

(9.) In respect of Postal Official articles this condition is not mandatory. 
(A.) Official Postal articles must bear the superscription "On India Government Service" when posted by 

Government Officials authorized to use 'Service Postage Stamps' or "On Service" when posted by 
all others authorized to use service postage stamps. 
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(B.) The superscription must be supported by the signature and official designation of the sender of the 
article or Head Clerk of Superintendent of office to be entered in lower left hand corner of the 
article. 

(C.) Service stamps affixed to, or impressed or embossed on or impressions of stamping machine taken 
on an article which does not bear the prescribed superscription supported by the signature and 
official designation of the 
sender will not be recognized by the post office in payment of postage. 

(D.) None of the above 
(10.) In address, where there is more than one post town bearing the same name and if PIN is not noted in the 

address, then it is particularly important to notethe which of the following: 
(A.) Name of the State (B.) Name of the Post Office 
(C.) Name of the District (D.) None of the above 

(11.) A bag used between a branch office and its account office to enclose cash bags and all articles, documents 
etc., exchanged with account office is called 
(A.) Branch office bag (B.) Account bag 
(C.) Registered bag (D.) Cash bag 

(12.) A ………… is a collection of faced unregistered articles of letter mail securely tied with a check slip at the 
top. 
(A.) Registered bundle (B.) Station bundle 
(C.) Labelled bundle  (D.) Sorting bundle 

(13.) On Sundays, National Holidays and on other PO holidays, which post office will function with restricted 
working hours? 
(A.) Army Post Offices (B.) Night Post Offices 
(C.) Head Post Offices (D.) None of the above 

(14.) Domestic Philatelic Deposit Account (PDA) system was introduced with effect from which date? 
(A.) 01.12.1965 (B.) 01.08.1965 (C.) 01.01.1965 (D.) 01.11.1965 

(15.) Who issues 'A' orders prescribing changes in sorting Lists? 
(A.) Superintendent of Railway Mail Service 
(B.) Superintendent of Post Offices 
(C.) Postmaster General 
(D.) Chief Postmaster General 

(16.) Which of the following are correct? 
(i) A cash bag is used to enclose the remittances of wing cash between Post Offices. 
(ii) Cash bags are not due bags 
(iii) A cash bag is used to enclose the remittances of cash between Post Offices and Mail Offices. 
(iv) Cash bags are due bags 
(A.) (i) and (iv) only (B.) (i) and (ii) only 
(C.) (iii) and (iv) only (D.) None of the above 

(17.) AMPC stands for 
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(A.) Automatic Mail Processing Camp 
(B.) Automobile Mail Processing Centre 
(C.) Automatic Mail Processing Centre 
(D.) Automatic Mail Processing Central 

(18.) Match the following in respect of Aadhar related charges.  
1 e-Aadhar download & color print in A4 sheet i Rs.100 
2 Mandatory Biometric Update/ MBU along with demographic update (5 years/ 15 years) ii Rs.50 
3 Only Demographic Update iii Rs.30 
4 Full Biometric with or without Demographic update iv Free of cost 
  

(A.) 1-(ii), 2-(1), 3-(iv), 4 (iii) (B.) 1-(iii), 2-(iv), 3-(ii), 4-(i) 
(C.) 1-(iv), 2-(i), 3-(iii), 4-(ii) (D.) 1-(10, 2-(iv), 3-(ii), 4-(iii) 

(19.) Who Is the Chairperson of Postal Service Board? 
(A.) Director General (Posts) (B.) Member (Personnel) 
(C.) Minister of Communication (D.) Secretary (DOP) 

(20.) A………………. is an office of exchange in which the work of assessment of customs duty on foreign 
mails is also carried out. 
(A.) Sub Foreign Post Office (B.) Transit Mail Office 
(C.) Mukhya Dak Ghar (D.) Foreign Post Office 

(21.) A defaulted SSA account can be revived before completion of years from the opening of account by paying 
minimum Rs 250 + Rs 50 default for such defaulted year. 
(A.) 5 years (B.) 7 years (C.) 10 years (D.) 15 years 

(22.) Arrange the steps of Electronic Clearance of letter box in ascending order. 
(i) LB Attendant using the android application should type the number of letters cleared, in that letter box. 
(ii) After opening the Letter box, LB Attendant has to scan the barcode through the handset. 
(iii) The central server validated the GPS coordinates of the LB and updates the date, time of clearance, 
number of letters cleared and generates MIS respectively. 
(iv) The details of LB< time of clearance and number of letters cleared in that letter box will be sent to 
Central Server through GPRS facility  
Select the correct option: 
(A.) (i) (iv) (iii) (ii) (B.) (ii) (i) (iv) (iii) (C.) (i) (ii) (iii) (iv) (D.) (iv) (ii) (i) (iii) 

(23.) A …………  is a cell established in a Sorting Office situated normally at the Headquarters of the Circle or 
at any other convenient Sorting Office in the circle to transcribe into English the address written in regional 
languages on the postal articles. 
(A.) Translation Centre (B.) Head Record Office 
(C.) Mail Office (D.) Transcription Centre 

(24.) What is the tenure of Sovereign Gold Bond and from which year exit option from Sovereign Gold Bond can 
be exercised? 
(A.) Tenure of SGB is 10 years and exit option can be exercised from 8th year 
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(B.) Tenure of SGB is 8 years and exit option can be exercised from 4th year 
(C.) Tenure of SGB is 5 years and exit option can be exercised from 3rdyear 
(D.) Tenure of SGB is 8 years and exit option can be exercised from 5th year 

(25.) Which of the following sentence is correct? 
(i) Post Boxes and Post Bag facility is available in all Post Offices. 
(ii) Post Boxes are available on certain Post Offices as determined by Head of Circle. 
(iii) Post Bag facility is available In all delivery post offices 
(iv) Post Box and Post Bag facility is available in all Head Post Offices only 
Select the correct option: 
(A.) Only (i) is correct (B.) (i), (ii) and (iii) are correct  
(C.) (ii) and (iii) are correct  (D.) Only (iv) is correct 

(26.) What is the minimum quantity of Customized My Stamp Sheets mandatory for corporate customers? 
(A.) 50 sheets (B.) 500 sheets 
(C.) 1000 sheets (D.) 5000 sheets 

(27.) Select the incorrect one with respect to Post Office Savings Bank General Account. 
(A.) Minimum withdrawal amount is Rs. 50/- and there is no maximum limit 
(B.) All deposits/withdrawals shall be in whole rupees only 
(C.) It can be converted from Single to Joint Account or vice versa 
(D.) Minimum balance to be maintained in the account is Rs 500/- 

(28.) Customers can book Speed Post and Registered Post through self service called? 
(A.) Smart Del (B.) Smart Post Kiosk 
(C.) Smart Self Booking (D.) Smart Post info 

(29.) Which Clause of PO Guide Part I deal with Prohibited Articles? 
(A.) Clause 205 to 210 (B.) Clause 215 to 219 
(C.) Clause 209 to 214 (D.) Clause 220 to 225 

(30.) Period of rental of a post box commences from which date? 
(A.) First day of the month in which post box is allotted 
(B.) The day on which post box is allotted 
(C.) First day of the month immediately succeeding the month in which post box is allotted 
(D.) First day of the month immediately preceding the month in which post box is allotted 

(31.) Distance between two station A and B is 300Km. A train leaves the station A with a speed of 40Km/hr. At 
the same time another train departs from station B with the speed of 50Km/hr. How much time will these 
two trains take to cross each other? 
(A.) 3 Hrs 40Mins (B.) 3 Hrs 20Mins 
(C.) 2 Hrs 20Mins (D.) 3 Hrs 45Mins 

(32.) A car moving at 48Km/hr completes a journey in 10 Hours. By how much the speed of this car should be 
increased to complete this journey in 8 Hours? 
(A.) 8 Km/hr (B.) 12 Km/hr (C.) 10 Km/hr (D.) 15 Km/hr 
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(33.) Two taps A, B can fill a water reservoir in 12 and 15 hours respectively. How long would the two taps take 
to fill the reservoir if both the taps are opened together? 
(A.) 62/3 (B.) 10 (C.) 20/3 (D.) 82/3 

(34.) A farmer took a loan at 12% per annum at simple interest. After 4 years he settled the loan by paying 
TARs.2442. What was the principal amount? 
(A.) 1542 (B.) 1550 (C.) 1600 (D.) 1650 

(35.) A table clock is sold at a profit of 10%. Had it been sold for Rs.40 less, there would have been a loss of 
10%. What is the cost price? 
(A.) 150 (B.) 175 (C.) 200 (D.) 324 

(36.) A dealer marks his goods 20% above his cost price. Then he allows some discount on it and makes a profit 
of 8%. The rate of discount is 
(A.) 10% (B.) 12% (C.) 6% (D.) 4% 

(37.) A man's wage reduced by 50%. Again the reduced wage was increased by 50%. Find his fixed loss in terms 
of percentage 
(A.) 75% (B.) 50% (C.) 0% (D.) 25% 

(38.) If income of Rama is 12 % % more than of Shyam, the income of Shyam is less than that of Ram by 
(A.) 11 1/9% (B.) 87 1/2% (C.) 11% (D.) 88% 

(39.) 2-[2{2-2(2+2))]= ? 
(A.) 6 (B.) 14 (C.) -4 (D.) -6 

(40.) Two pens and three pencils cost Rs.86. four pens and a pencil costs is Rs.112. Find the cost of pen and that 
of a pencil 
(A.) Pen Rs.15, Pencil Rs.10 (B.) Pen Rs.12, Pencil Rs.25 
(C.) Pen Rs.25, Pencil Rs.12 (D.) Pen Rs.25, Pencil Rs.8 

(41.) Duty of public servant is 
(A.) Grant benefit to the strong section the society only because they are strong 
(B.) Demonstrate compassion for poor, disabled and weak 
(C.) Deny the due consideration to the weak, despite their weakness 
(D.) Use his power, position and discretion to serve his personal interest 

(42.) Commitment to work does not include 
(A.) Showing under favour to relative or friends 
(B.) Fulfillment of promise made 
(C.) Punctuality 
(D.) Devotion to duty 

(43.) Rani Abbakka is known among freedom fighters for her fight against 
(A.) Portugese (B.) British (C.) French (D.) Dutch 

(44.) Words 'Alaripu', 'Tillana' is associated with below dance form 
(A.) Mohiniyattam (B.) Kathak 
(C.) Kathakall (D.) Bharathanatyam 

(45.) 'Soubhagya' scheme of central government is related to 
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(A.) Promoting girl child education 
(B.) Insurance scheme for girl child 
(C.) Achieving universal household electrification in the country 
(D.) Scholarship scheme for meritorious girl child 

(46.) National Cade Corpse (NCC) was established in. 
(A.) 1947 (B.) 1948 (C.) 1950 (D.) 1971 

(47.) Minimum age of eligibility to become President of India and Vice President of India respectively 
(A.) 30, 21 (B.) 35, 21 (C.) 35, 30 (D.) 35, 35 

(48.) Article 51A contained in part IV A of constitution deals with 
(A.) Fundamental rights (B.) Fundamental duties 
(C.) Official languages (D.) Citizenship 

(49.) Which of the following is not joining Bay of Bengal? 
(A.) Tapti (B.) Mahanadi (C.) Godavari (D.) Krishna 

(50.) Union of India consists of 
(A.) 29 States, 8 Union territories (B.) 28 States, 8 Union territories 
(C.) 28 States, 9 Union territories (D.) 29 States, 7 Union territories 

 

GDS TO PM/MTS KARNATAKA CIRCLE-2022 KEY 
ANSWER 

(1.) C (2.) B (3.) A (4.) C (5.) C 
(6.) C (7.) C (8.) C (9.) D (10.) C 
(11.) A (12.) C (13.) B (14.) B (15.) A 
(16.) B (17.) C (18.) B (19.) D (20.) D 
(21.) D (22.) B (23.) D (24.) D (25.) C 
(26.) D (27.) C (28.) B (29.) C (30.) A 
(31.) B (32.) B (33.) A,C (34.) D (35.) C 
(36.) A (37.) D (38.) A (39.) D (40.) C 
(41.) B (42.) A (43.) A (44.) D (45.) C 
(46.) B (47.) D (48.) B (49.) A (50.) B 

 
 
 
 
 
 
 
 
 


